o2 2dHolA AZ4AZE ABC 9
dWolE FstH? (F, sind3® =
0.68, cos43° = 0.73, tan43° = 0.93
)

® 73 @ 1241 @ 16.58
@24.82 ® 49.64

B \
AC =68,
BC =13

.. AABC = 6.8 X 7.3 x % = 24.82




o2 1HolA 22442t ABC 9 =499 4
o5 Fstofzt. (T sin55° = 0.82, cos55° =
0.57, tan55° = 1.43)

>
[> =t 478

AC =20 °]E2 AB = 20xsin 55° = 16.4, BC = 20xcos 55° =
11.4
w2t AABC 9] Ed8|9] Aol= 20 + 16.4 4+ 11.4 = 47.8 o[t}




chet 2-& A28 ABC ol 4 AC 9
Z___}

@ 40 )50 ® 60

AC = 100sin 30°
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ohS 273} o] vithE gsfish= et ]
S Atele] A7t 21 m o] L, v A %{M’ﬁ

st Hi71E wrek & Zte] 2717t TT-2lm--TT
15° o], e} =ol=?

\|

@ tanl5°m @21tan15°m @ sinl5°m

@ 21sin15°m ® coslh°m

tan15° = % O|B 2 x =21 tan 15°m ©|T}.




oS 187 & AABC oA AB = 4em A
,BC =8cm, /B=60°<¥ o}, AC ¢] Z4o]

@ 44/3cm @ 5v3cm
® 6v3cm @ 5v2cm
® Tcm

>C

. H _Z
“~-8em-

AH = 4sin 60°
V3

HC =8-BH
= 8 — 4 cos60°
=8-2=6
AC’ =AH +HC o= &
AC’ = (2V3)2 +62 =12+ 36 = 48
. x = 4v3(cm)




e 187 e HPAHEFE ABCD
oA HZHAAC ©] Ao]=?

@ 3+5 @ 2V7
@)2vis @ 313
® 413

A A oA BC o W 5:419] wH& E 21 5hd
AE = 6xsin60° = 3 V3, BE = 6xc0s60° =3, CE=8-3=5
ojth. wetAl AAEC o metugtA 25 A8olH AC =

3\/32-1-52:\/5_2:2\/@0]1—/]_‘
(3V3)




® (3- V3)m @ (3v3-3)m
@ @V3+1m  G)EVI+3m

® (4V3-1)m

S =olE h 2 otH

/CBH = 45° 0|22 BH = &

(CAH = 30° 0|22

6+h:h=+vV3:1, V3h=6+h

(V3-1)h=6
6

S h=
V3-1

=3(V3+1)=3v3+3(m)




& 1389 AABC oA AC =
6cm, AB = Scm, /A = 60° 9 o, BC
o] Zolz Fatofat,
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Th2 T1%1 9] FPAPHY ABCD oA
AB = 6 cm, BC = 10cm, /ABC =
60° =i, thZHd BD 9] Zol& 5}
of 2},

= cm

>
[> HED 14cm

B ~

CD = AB =6°]1, 3 D |4 A D
BC 9] @Al Wi 4419 & 7/
< H et Scm
HC I .
= 6Xcos60° =6X - = S
2 B>~--_10em---"C H

3 (cm)

HD = 6 X sin60° = 6 X

“l%

BD’ = (BC + HC)? + AD”
=(10+3)>+ (3V3)2 =196
w2kl BD = 14 (cm) ©]t}.




10. ©h& AHztg ABCD 4 AB = 4, BC = 8, AD =
613, /B = 60°, /DAC = 30° & o, DABCD 2| {°]& Fstoizt

oABCD
= AABC + AADC

1
:%><4><8><sin60°+5><6\/ﬁ><6><sin30°

1 V3 o1 1
= — - — 1 _
2><4><8><2 +2x6\/3x6><2

8V3+9V13




11. & 189 AABC |4 AH 2] 4o]

=7

@ 25(V3-1) @25(3— V3)
@ 50V3-1 ® 50V3+1

B

A
60° 45°
N
® 25v3-1

BH=a&stHa:AH=1: V3

o|m g

AH = V3a

CH=AH = V3a,BC = a+

V3a = 50

(14 V3)a = 50, P
V3+1

25(V3-1)
- AH = V3x25(V3-1) = 25(3-
V3)




12, o2 2T Zo] 100m BojH F | 6
A A, BolA skl "= & C
£ &2 47 47E60°, 45° S

o}, o] uf, FE] %o h &7

® 100m @ 50V3m
® 100V3m @ 100(V3-1)m
@50(3— V3)m

~&B

A C oA ¥ AB ol Wi =490 S H 2 5k, 5
h 2 stH
AZ442tY ACH °|A L/ACH = 30° °|E&2
AH — 1
tan30°= — , AH=CH x tan30° = —h
CH V3
T, 2247 BCH 9|4 /BCH = 45° 0|22
tan45°:B=,ﬁ=ﬁxtan45°=h
CH
o] fq1,AB=AH+B_=i+h=100
V3
100 V3
h= =50(3- V3)m
1+ 3 ( )




AH = ‘/§+2
tan(90° — 45 °) + tan(90° — 60 °)
_ V3 +2
" tan45° + tan30°
V342
V3

14 2=
+3

3(V3+2)

3+ V3
(V3+2)(3- V3)

B 2
34+ V3
2




14. ©& AABC °|A =o°] h & +5tofz),

\VARR 4
0
L

4V3

B

/BAH = 30° ©|22 BH=AH =8

h:m-sin60°:8x\/7§:4\/§

L h=4+3




15.

the 23} Zro] 7HAo] 50m Q F AE iR
A, B b9tk A 72 S4ol4 B AR
& 2t B el 30° o] 1, et & &
Az 45° 4 W, B AB] Fol?

A~-50m-"B
@ 100m @ 75m ® 50(V2+ 1)m
(@)Mm ® 50(V3+ 1)m

B

30° [
45°

()

S~50m-"

DC =50tan30° = %g

m}a}ﬁm:m+@=%§+m=w

(m) , BC = 50 tan 45° = 50m

(m) ©]tt.




16. tH2 189] AABC oA AC 9] Zo]=?

OV 06E O3 @©1vi Ouvi

B

A A o4 W 47 B

AH = 8 xsin60° =43
BH = 8 x cos60° = 4
~ AC= /(4V3)2 +82 =47




o2 293 2ol AB = 8cm, AD =
12cm, /A = 120°9] BIPAIHY
ABCD o[ A tjZtd AC 9] dol&
sfofzt.

» G
> HEH: 4v7cm
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ﬁ=8sm60°=8x‘/7§ = 43 (cm)

CH=12-BH =12 -8c0s60°
=12-4=28 (cm)

AC =AH +CH olEZ

AC” = (43)2 + 82 = 112

w2bA] AC = 4V7 (cm)




18. ot 2 A AC = Semol A
sinB = g, sinC = g%’ ], BC 9
Zolg Fstol,

A AolA BCol Wi =49 & Het sHi

sinC = goﬂ/ﬂ AH =3 (cm) ]2,
4 3 -— 15
i = _—=_——0lF = — o
sin B 5= % 122 AB 1 (cm) ot}
2
web B = (22) —52= %L BH = 2 (cm) olet. HO? =

52-32 =42, HC =4 (cm)©

D

zamgm:ﬁ+—czg+4: 2 (emyolet.




7-20]7} Aeto| A 2m Hol W FLof| A A
2 et B Zbo] 97]7F 51°, etk
B 7ko] 97171 36° At} o] e AA
o] &ol& Fstodt (T, tanbl° = 1.2,
tan 36° = 0.7)

¢

_l:l_
=

BC =2tan51° =2x 1.2 = 2.4 (m)
CD =2tan36° = 2x 0.7 = 1.4 (m)
. BD=BC+CD =24+14=38(m)




20. o= 2™ UFe Eole?

A

|

|

A

& A N
B30 .

~40-"C

@ 10(V3-1) @ 10(V3+1) ® 10(3+ V3)
@ 20(V3-1) @20(%“)

B

59| o] ATl & x 2} 51
CH = x,BH = x+ 40
AH:BH=x:x+40=1: V3
\/gx:x+40<:)(\/§—l)x:40

40
o1 =20(V3+1)

SoX =




